
HI-LIFT JACK STABILISER LEGS

INSTRUCTION MANUAL
PART NO. 14030

SUITABLE FOR HI-LIFT / FARM JACKS

D, E 

Jack
Standard

J

Top of Jack 

Jack Base 

A

C
F

G, H 

G, H, I 

B

K

v2016.06



2

Lay your Hi-Lift jack down 
on the ground, as it makes 
it much easier to attach the 
legs without worrying about 
the jack falling over.  

If you have a Safe Jack 
Stabiliser Base attached to 
your jack, you won’t need 
to lay it down, just leave it 
upright in the base plate.

1. ATTACH THE LEGS TO YOUR JACK

Unpack to ensure that all parts are included.

Note: The Tri-Pod Legs will come in the box assembled.  
Just unpack and attach to jack.

 A. 2 x Leg - Top Section 
 B. 2 x Leg - Bottom Section 
 C. 1 x Clevis 
 D. 1 x 1/2” Bolt 
 E. 1 x 1/2” Wing Nut 
 F.  1 x 3/8” Quick Release Bale Pin 
 G. 4 x 5/16” Bolt 
 H. 4 x 5/16” Wing Nut 
 I. 2 x 5/16” Washer 
 J. 4ft Long Chain 
 K. 3/8” Bolt

If you are missing any parts please call (03) 9761 1110 immediately.

The warnings, precautions, and instructions discussed in this manual cannot 
cover all possible conditions and situations that may occur. The operator 
must understand that common sense and caution are factors, which 
cannot be built into this product, but must be supplied by the operator. 



3

2.   SET UP STABILISER LEGS

The feet of the Stabiliser Legs 
should already be attached to the 
chain as shown (G, H, I). 

Extend leg sections to the 
appropriate hole:  If you have a 48” 
jack, use the hole closest to the foot. 
If you have a 60” jack, use hole 
furthest from the foot.
Slide the bolt through and secure 
using the provided wing nuts (G, H).  
The bolt should act as a stopper, 
and does not actually go through the 
top section of the legs. 

Attach top leg sections (A) to jack 
using bolt and nut (D, E) as shown. 
(Finger tighten). 

Attach the clevis (C) to the jack 
standard using the provided bale 
pin (F). 

Set Jack upright and swing legs 
forward until chains are pulled tight. 



Rotate the bottom section of the legs 
until the foot rests flat on the ground 
(as shown on page 2) and the chain 
is spread evenly per each side of 
the jack.  
Tighten the tension nuts on the 
bottom section of the legs (K), 
securing the bottom and top sections 
of the legs together. 

Here are a few handy uses for the Safe Jack Stabiliser Legs:

3.    FINALISE INSTALLATION

4

OTHER SAFE JACK PRODUCTS

SAFE JACK 
SECURE 
LIFTER 

PART NO. 14020

SAFE JACK 
60” 

CABLES

PART NO. 14015

SAFE JACK 
SECURE 

LIFTER SLING

PART NO. 14026

SAFE JACK 
UNIVERSAL 
BASE PLATE

PART NO. 14000

www.proquip.com.au

PRO QUIP INTERNATIONAL   PQI PTY LTD T/As

14 London Drive (PO Box 852), Bayswater  VIC  3153 Australia
phone: (03) 9761 1110            email:  sales@proquip.com.au

EXCLUSIVE AUSTRALIAN DISTRIBUTOR


